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(‘Hondurs Generic/ Regulai')
Answer the Questions from any one Option.
| OPTION-A
For Honours Generic/Regular

Paper : BOT-HG-3016/RC-3016
.~ (Plant Physiology and Metabolism )
| OPTION-B
For Honours Generic
Paper : BOT-HG-3026
(Environmental Biotechnology)
- Full Marks : 60
Time : Three hours

The figures in the margin indicate
- full marks for the questions.

Answer either in English or in Assamese.
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(iv) Who first coined the term photoperiodism ?
(a) Curtis and Clark
(b) Garner and Allard
(¢) Miller and Skoog
(d) Salisbury and Ross
@I (A AW FhoRaRRy
) ! oo R (e
(@) I A FF
(b) R AR e
(€ FeR == gt
@) R R T

(v) Swe.lling qf wooden doors and windows
during rainy season in due to
phenomenon.

AR fe1© 03 @R iz R et w1

AR AR G| (9T 512 75 )
(vi) Indole-3-acetic acid is belongs to
group of plant growth regulators.

(Fill in the blank)

@R (ai5q B
(T 312 759 71)

HA-3-a00F 9
& fEEs|
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(Fill in the blank)

2.
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(vii) In Calvin cycle, how many ATP molecules
are required to produce one molecule of

glucose. A (Answer directly)
B T T I FRAT [ HFS (20!
ATP W93 2/TTem | (2o BT 7))

Write short notes on the following: 2x4=8
(@) Importance of osmosis in plants

(b) Role of phosphorus in plant growth

(c) Co-énzymes

(d) Vernalin

TR SRR 5 (B forl 8

(@) TfETe SIffeR wag

(b) TR IFS T i

(c) ITTLIHF

(d) eiEm

Answer any three of the following questions :
5x3=15

fa) “Cell is an osmotic system”. Justify the
comment.

(b) Write notes on various agents of
biological nitrogen fixation.
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(c) '.I‘heory of starch = sugar interconversion
in stomatal opening and closing, |

(d Cytochrome pump hypothesis,

() Describe Munch hypothesis of
translocation of solutes. ‘

RIS et oAb ans Ses famy o
(@) PR IF AT TS ©F " —3iefor eipp 3 |

(b) TEER TR e o @ /vy
SRR R o e

(c) ITTF IT WP A e ooy = =fq)
IR I I =4 |

(d) GIZGIEFET 9= TSIM|
(e) TERER] ~IRII© R TS I 77 |

4. Answer any three of the following questions :
10x3=30
Resie fre o e Ter filka o

(@) What is enzymes ? Describe the modern
system of enzyme classification with

suitable examples, 2+8=10
%&mmﬁs{@t?%@mqqq
g
Rerem THId 7R 1t 75
(b) Write a short note op

. . . Kranz anatom
with suitable diagramg, Describe in detai}I

the G, cycle of photosynthesis, 4+6=10
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(c)

(d)

(e)

(TG SIS THE Iz v afb it
Rl | AR Cy B Il 4|
What do you mean by C3 and C, plants ?
Mention the differences between C3 and
C, plants. 5+5=10
C; W% C, Sfew Iferet & @il G O Cy
e Aers At sAPRR FiFE =10
Give an schematic representation of
cytoplasmic respiration. Describe how
oxidative decarboxylation of pyruvate into
Acetyl Co-A. 5+5=10
@ 2T P @ TS TR
71 | Tr® TR Rrarers A ARET bl
Rl @S “afobize 7 e @7

(Acetyl Co-A) &g A it 3 |

What is auxin ? Discuss the physiological

role and functions of auxins in plants.
2+8=10

R ¢ Sftre oiFe *R RAdE o
% S I |

What do you mean by photope_:riodic
induction ? Describe }n.detall the
mechanisms of photoperiodism. 2+8=10

FRsIE Tret i 8 e 2 et eifsfermia
sfera RiRe o 39 T
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1.

(b) Name a Ramsar site of ¢

OPTION-B
Paper : BOT-HG-3026
( Environmental Biotechno logy)

Answer the following questions - 1x7
B . X =7

were Al epcaies Ter gt o
(a) Name one secondary pollutant

@Bl (M ST [N B

Assam. he state of

WW@WWWM.

(c) Name one NGO fi
. rom Assam
in the field of enVironme:tZl that work
and ecology.

ARG T N iRz
R
~om e

(d) __leads to re
duction i .
oxygen. On in the dissolved

conservation

?Wm%mm'

() What is the full form of COD -
COD 3 {7t e
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2.

() From which district the Chipko
Movement started ?

@ B o Beit STHiew e e ?

(g9 Where is the headquarter of United
Nations Environment Programme (UNEP)

situated ? _
JgReR AR FEPHI (UNEP) I e
T'C SRIZS?

Write short answers :

AT GASSATIE

(aq) What are the various components of acid

2%4=8

rain ?
af5e g Rt Tame & e
(b) Write two disadvantages of trickling filter.

R o it R fort

]

(c) What is air quality index (AQI) ?
T eled IPHIFRS AQI) &2

(d) What is environmental ethics ?

AR (feTel 2

Contd.
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3. Answer any three of the following : 5x3=15
Fesre R fofAoT e By o

(@) Give a brief account of indoor air
pollution.

(b) What are the effects of increased carbon
footprints ?

I TORS IR o & Ry

(c) What are the positive ang negative
impacts of trade on the environment ?

(d) Describe the procesg invol
oxidation pond.

: Elﬁﬁwmmaﬁwl

(e) State the functions of
Pollution Contro] Bogy d

ved in an

the Central

A e Pt V6 PSR Szl 7 |
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4. Answer any three of the following : 10x3=30
forerr fofm e Tet s

(@)

What is greenhoﬁse effect ? What are the
major greenhouse gases ? State few

ission of green-
measures to reduce emis

" house gases.

i oz eR e B4 (TS R OREIR R

Fro TGS oz (o1 T 2 19 I g

(b)

(d)

3 (Sem-3/CBCS) BOT HG 1/2/RC/G 11 "

" the Narmada

| meﬁgﬁﬁmww

7Y TER |

State few major causes for environmen;
| ments in India. Give an account o
the N Bachao Andalon. 4+6=10

wmsfwrasreumﬁwﬁm

Give an account of International NGOs

that work in the field of environment.
10

mmmwwm@am%wm

et famtl

Protocol ? Describe the

What is Kyoto
galient features of the Kyoto Hc;t:;g]io

frs ovee e RS b w ST
wREBPTER 3
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(¢) What is bloremedlatlon? Give an
account of molecular approaches in

bioremediation. . - 2+8=10
mm(am)ﬁ?mm |
R =fe ﬁwt a1

() Give an account of the Rio declaratlons
- on environment and development. What
were the important outcomes of the Rio
Earth Summit 1992 7? - “7+3=10

AR BI%e T @S Ry (RRAPT
el Ta1 Sod: R R’ i gfiise @q.q:i:f
WﬁWﬁﬁ?

——————
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